Notes 5.1 Solving Systems of Linear Equations by graphing |

each equation of the original system.

Solving a System of Linear Equations by Graphing

Step 1: Graph each equation in the same coordinate plane.
Step 2: Estimate the point of intersection.
Step 3:

Check the point from Step 2 by substituting for x and y in

Solve the system of linear equations by graphing.
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Solve the system of linear equations by graphing.

2. y=-bx+14
y=x-10
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Solve the system of linear equations by graphing. 4

3.y=x
y=2x+1




Solve the system of linear equations l?{ graphing.

4. y=-4x -7

X+y=2
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Solve the system of linear equations by graphing. 7

5. x-y=5

=3x+y=-1
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A kicker on a football team scores 1 point for making an extra
point band 3 points for making a field goal. The kicker makes a
total of 7 extra points and field goals in a game and scores 17
points. Write and solve a system of linear equations to find the
numlggr x of extra points and the number y of field goals.
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Notes 5.2 Solving Systems of Linear Equations by Substitution
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Solving a System of Linear Equations by Substitution

Step 1: Solve one of the equations for one of the variables.
Step 2: Substitute the expression from Step 1 into the other
equation and solve for the other variable.

Step 3: Substitute the value from Step 2 into one of the original
equations and solve.

Solve the system of linear equations by
substitution. Check your solution.

1\ ;2'(%'\"”?9

1.y=2X+3. \ \ <= 2(V)*3

—— e
y = 5x St T i
4 \3 —,vg 7((
OrT Zuxr > 5{, 5 (.‘;) S = Q;{l}
B e - R
e A=
X T 2
A =\ *'
Solve the system of linear equations by
substitution. Check your solution. Y4xv2y=o
Sl s , ( Ly (2}3 + '2&4"\«: o
2.4x+2y=0 \(z;lﬂ\ e
1 | — D T2
y= 5 X—8 <Y
' N WE Y XS
—~<N | y(a).e \ Oz
7 > - = A\ )72
dn 12w S) = O 4 (%) RS
/ = C2 \ &)™ >
—\D = O A = | - < ;/ h
L‘k/\?&’*”y" \ “‘2‘5 X # ff «-*Jt.'é,,.g;'
G i 22 z
. T | “4Y=
| gy e s h o k | S

«—.};‘" ’yw?




Solve the system of linear equations by

substitution. Check your solution. a .
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4. You sell lemonade for $2 per cup and orange juice for $3 per cup. You sell a
total of 100 cups for $240. Write and solve a system of linear equations to find
the number of cups of lemonade and the number of cups of orange juice you ) o
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Notes 5.3 Solving Systems of Linear Equations by Elimination

- Key Idea

Solving a System of Linear Equations by Elimination

Step 1:

Step 2:
Step 3
Step 4:

Multiply, if necessary, one or both equations by a constant
s0 at least 1 pair of like terms has the same or opposite
coefficients.

Add or subtract the equations to eliminate one of the variables.
Solve the resulting equation for the remaining variable.

Substitute the value from Step 3 into one of the original
equations and solve.

Solve the system of linear equations by elimination. Check your solution.
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Solve the system of linear equations by elimination. Check your solution.
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Solve the system of linear equations by elimination. Check your solution. " i
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Notes 5.3 Solving Systems of Linear Equations by Elimination
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Solving a System of Linear Equations by Elimination

Step 1: Multiply, if necessary, one or both equations by a constant
50 at least 1 pair of like terms has the same or opposite
coefficients.

Step 2: Add or subtract the equations to eliminate one of the variables.

Step 3: Solve the resulting equation for the remaining variable.

Step 4: Substitute the value from Step 3 into one of the original
equations and solve.

Solve the system of linear equations by elimination. Check your solution.
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Solve the system of linear equations by elimination. Check your solution.
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Solve the system of linear equations by elimination. Check your solution.
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7. A landscaper buys 4 peonies and 9 geraniums for $190. Another landscaper
buys 5 peonies and 6 geraniums for $185. Write and solve a system of linear
equations to find the cost of each peony.
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Notes 5.4 Solving Special Systems of Equations
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Methods for Solving Systems of Linear Equations
Method When to Use
Graphing (Lesson 5.1) lo estimate solutions
Substitution When one of the variables in one of the
(Lesson 5.2) equations has a coefficient of 1 or ~1
Elimination When at least 1 pair oflike terms has the
(Lesson 5.3) same or opposite coefficients
Elimination (Multiply = When one of the variables cannot be eliminated
First) (Lesson 5.3) by adding or subtracting the equations
2 7Y vz Tk
' Key Idea
Solutions of Systems of Linear Equations
il A system of linear equations can have one solution, no solution, or
infinitely many solutions.
\
One solution No solution Infinitely many solutions
The lines intersect.  The lines ave parallel.  The lines are the same,
Solve the system of linear equations. Check your solution.
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Solve the system of linear equations. Check your solution.
2.y=-5x-2
5x+y=0
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Solve the system of linear equations. Check your solution.
3.x=2y+ 10
2x + 3y = -1
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Solve the system of linear equations. Check your solution.
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Soﬁlve the system of linear equations.
5.{2x+y=5)“ 2-
X + 2y =0

Check your solution.
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Solve the system of linear equations. Check your solution.
6(2x —4y=10\ {p
-12x + 24y = -60
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The perimeter of Rectangle A is 54 units. The perimeter of Rectangle B
is 108 units. Write and solve a system of linear equations to find the
values of x and y.
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